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o HYA T I W [ FG FT-99 7 HRd g 16 TUT
797 18 8/

Please make sure that the printed pages in this
question paper are 16 in number and it contains
18 questions.

o 797-7 7 qIfe &9 F &R [3F 9 FIS T T A H 6
FR-GRAHT & J&T-5% T fard]
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

. ggwqaﬂmﬁ/@w%aﬂ##%@, J9 FT HHIE ST
/

Before beginning to answer a question, its Serial
Number must be written.
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o FR-YkTer & e 7 @redl G1/9+ 7 B8]

Don’t leave blank page / pages in your answer-
book.

o TW-JRaF & Sifaked #F o= dT & [
STTTEATTAR & [ SR forar IR 7 @

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o THETST 19T T To FIT-F GT 3G9 ferd |

Candidates must write their Roll Number on the
question paper.

 HYIT 4TI HT TR &4 7 g9 I8 GlAfoerd &% o [ q97-97 qof
7 7&l & qiftem & ST 39 T & FE 4t qar @Ew
7T fawar ara|

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

AT (59T :
() T 79T st &l
(i) TOF F97 & Siek I9F G 9T 7T &)
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(iii) F97 G411 4 INE (i-xii) FglABAT) TF I aret
797 8| 938% 797 & faw 1 3w 2 @@ I% o
I gRa® § ford |

(iv) 797 G@T 2 & 10 @& ofdayg ITT 597 8/
&% J97 2 OB FT & H&® 797 H T AT
30 /&1 7 dfg]

(v F7T GET 11 § 15 & @ T g97 8l
g% F97 3 B F &l JAF FoT B FAX T
40 ==l H dfoq/

(i) 77T T 16 G 18 aF 1 FHIT F9T 8l
T&% J97 5 31l T &1 F&% F97 & I TTHT 70
=T & difag)

(vii) F9T-TF 7 GHF &7 G FI3 4% 78 21 a9y 5
Sl aret i+l g9 & onaRed 7 qer AT 7w &1
0@ 797 & & ST B e g & 797 &7 8

General Instructions :
(i) All questions are compulsory.

(i) Marks for each question are indicated
against it.
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(iii) Question Number 1 consists of twelve (i-xii)
multiple choice/one word type questions
carrying 1 mark each. Write correct answer
in your answer-book.

(iv) Question Numbers 2 to 10 are very short
answer type questions of 2 marks each.
Answer these in about 30 words each.

(v) Question Numbers 11 to 15 are short
answer type questions of 3 marks each.
Answer these in about 40 words each.

(vi) Question Numbers 16 to 18 are long answer
type questions of 5 marks each. Answer
these in about 70 words each.

(vit) There is no over all choice. However, internal
choice is given in all long answer type
questions of 5 marks each. You have to
attempt only one of the given choice in such

questions.

1. () [Cu(CN)4]3_ T Cu @ ST ST & - 1
(A) +2 B) +1
(C) +4 D) -3

3—
Oxidation number of Cuin [Cu(CN),|  is:
A +2 B) +1

(C) +4 (D) -3
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(i) Cr(z =24) @ AT [owTE & : 1

(A) 3d*4s? (B) 3d®4s°
(C) 3d° 4st (D) @I T &

Electronic configuration of Cr(Z =24) is :

(A) 3d*4s? (B) 3d®4s°
(@) 3d° 4st (D) None of these
CH,CI
(iii) & ITUPAC 9 #7 & ? 1
CH,CI
Write IUPAC name of ©/
(iv) = ¥ fgar pka &1 919 siftreay & 2 1
() I (B) TAATW

(C) O-TEIHHI (D) O-iEd
Which has highest value of pka ?
(A) Phenol (B) Ethanol

(C) O-nitrophenol (D) O-Cresol
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v) F=EEF a1 9 G 728 &2 1
(A) FeCl, (B) CrCls
(C) TiCly (D) Hgl,

In the following compounds, which is not

coloured ?
(A) FeCl, (B) CrCi,
(C) TiCl, (D) Hyl,

(vi) WIS -1, 2, 3 -CTBHIESeISE &l @l aEy| 1
Draw the structure of Propane -1, 2, 3 -
tricarbaldehyde.

(vi) C,HsNH,+HNO, — A, A% : 1
(A) C,HsOH (B) C,HsNHOH
(C) CoHg (D) CyHsNO,

C,HsNH, + HNO, = A, Ais:
(A) Cy,HsOH (B) C,HsNHOH

(C) CyHg (D) C,H5NO,
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(viii) Fr=feiad & & & o afogread @ : 1
Zn2+, Cd2+, SC3+ , V3+
In the following diamagnetic ions are :

Zn2+ Cd2+ Scs-l— V3+

|
(ix) @ﬁN%WWW%: 1
(A)  sp” B) sp°
(C) sp’d (D) dsp®

What is the nature of hybridisation in the

H
compound |

@
() sp? B) sp?
(C) sp’d (D) dsp”
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(A) CH;COOH

(B) CH3;CHCICOOH

(C) CH3;CH,COOH

(D) CH,CICH,CH,COOH

Strongest acid is :

(A) CH;COOH

(B) CH3;CHCICOOH

(C) CH3;CH,COOH

(D) CH,CICH,CH,COOH
(xi) I TG JaA AT & 7

(A) FVEAUEE  (B) Qi
(C) THleHREs (D) p-EGUATTS
Which is most basic ?

(A) Benzylamine (B) Aniline

(C) Acetamide (D) p-nitroaniline

CONH
y o*
(xii) @/ —>HA3 P, P&:
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CONH> +
©/ HT*“*()) P, Pis:

(A) Benzoic acid (B) Aniline

(C) Benzonitrile (D) Benzylamine

2. HHAT Tl ST HUF TRT & g ST | 2
Discuss enthalpy of atomization of d-Block
elements.

3. BHMIEH T BEIiedh TG dHl TRATVT Sy | 2

Define Homoleptic and Heteroleptic complexes.

4. C,H.Br+Mg _TFTR, 4 _H0 . p

A9 B & IAMEI &I =T g 2

CQHSBT n Mg DRY ETHER A HyO B

Give the structure of A and B main organic
products.
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5. =fafgd offadi § Y@ifded & SiladiaRe  sfaend
fafea 2

[ Fe (CO)s] croZ MnoZ [ mi(cN),]”

Find oxidation states of Underlined in the

following :

[ Fe (CO)s] Cro? MnoZ [ni(cn),]™

6. =T wUaRor &9 T o g © 2

(i) OO BT JIOT-2-377d

(i) OFE & BT &
CEREIKERIRICRY

Convert :

(i) Propane into Propan-2-ol

(ii) Anisole into Phenol

(Write the reactions only)
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COOH COOH
7. @ &R @ T &I gaa o & ofR Ff 2 2
Cl NO2
COOH COOH
Among and which is stronger
Cl NO2
acid & why ?
8. M= & g #ifv - 2

NaOH (i) COq, 400K, Under Pressure

— 5 A — B
.. +
(i) H

Complete the following :

NaOH (i) COqg, 400K, Under Pressure

T8 A — B
.. +
(i) H
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11.

12,

13.
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BT g Swllsdh ol H TS W GRT 9 R
T ? 2

Give chemical test to distinguish between Phenol

and Benzoic acid.

ThI Bl Tqh Uhaldhl T HT I [T STm & 2 2

How is Dacron obtained from its monomers.

oIFIATEE Mg 1 8 2 @y ot fafg| 3

What is Lanthanide contraction ? Give its two

consequences ?

e, f&diae @ ot Uwhigial § fa9g & & fag s
YT I Gerr Sifg| 3

Give a simple chemical test to distinguish
between Primary, Secondary and Tertiary

alcohols.
e arfSrisparatt § gex swre fafg 3

(i) (CH;CO0), Ca—2—
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DRY
il C-H-COCl + (CH Cd ——
(ii) 6Hs (CH3), CTHER

(iii) CH3CH,CONH, Br2/KOH

Write the major products in the following
reactions :

i) (CH;CO0), Ca—2—

DRY
il C-H-COCIl +(CH,), Cd
(ii) 6Hs (CH3), STHER

(iiiy CHZCH,CONH, Br2/KOH

14. Wgf®, Gdias gd qdEs QM & d@uqie & gan
Hiorg| 3

Compare the boiling points of Primary,

Secondary and Tertiary amines.

15. TETE Higd YHagad d Gou qgadhi 7 f[99g fofgul 3

Giving example how can you distinguish
between Homopolymers and condensation

polymers.
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16. THADY fhied 8T ¥ d-HAH & (AT ®H 9T 5

Explain the splitting of d-orbitals in an
octahedral crystal field.

AT

OR
TesT: W Relie 7 997 Wiie felie & 99 # 9@ey
& U]

Explain the relationship between stepwise
stability = constants and overall stability

constant.

17. (a) TEA 0@ @ Aormerer ufoema  arfrfssamd
Uchlsd ool &l ofuem &A1 fhaia € =
B 3

Why are Aryl halides less reactive toward
nucleophilic substitution reactions than

alkyl halides ? Explain.
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Cl CH:Cl
(b) @ eﬁw@ﬁ@rﬁ?—m?ﬁﬁm SN rf¥foRaT
ST & S SR 47 2 2

Cl CH»ClI

In @and @, Identify the compound

which will undergo SN' reaction faster and

why ?

AT
OR

T &7 TR #If 5
(i) Sl o SEhd

(i) OGS & WUe-1-37Te

(iii) TR & BN SEHEETEs

(iv) U & Uefie

(v) TSI ¥ MOUE3TEd

Convert the following :

(i) Benzene to Diphenyl

(iij Propene to Propan-1-ol
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(iii) Aniline to Phenylisocyanide
(iv) Ethanol to Ethene

(v) Ethanol to Propanenitrile

18. W%Ww (denaturation) H ST A7 G & ?
TR FIEH IR MAHR TEF 7 SRk T Hifog| 5

What is meant by denaturation of protein ?
Differentiate between fibrous proteins and

globular proteins.
e
OR
PR & J @ a1 & 99 [y 9 gcd aif &l
HETHD ATHAL FA3T

Name the three major classes of carbohydrates
and give the distinctive characteristic of each
class.
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